1) TRADE THEORY

Queastion No. 1/ Question ID 66 Marks: 2.00
Which rule is used to determine the direction of rotation of armature in D.C motor?
D.C e # smfwR & gl &t i3 Fuifa s & o g P o gwam fm s g2
(A) O3 Fleming's right hand rule
TR %5 2t gy =1
(B) O3 Right hand palm rule
arli%ﬁ 1Y @1 gt & Fam
(C) 0 Flaming's left hand rule (Correct Alternative) {Chosen Oplion)
wAfeT g0 B1Y &7 e (Correct Alternative) (Chosen Option)
(D) O Right hand grip rule
a1fe g1y ushs Fam

Question No. 2/ Question ID 305 Marks: 2.00
Which instrument provides a visual representation of measured or tested quantities?
& W1 JUH A §U a1 giiafin mrn @ v een vl vem w5 8
(A} O Voltage stabilizer (Chosen Option)
AW WHASSR (Chosen Option)
(B) & Cathode ray oscilloscope (Correct Alternative)
Tty (Correct Alternative)
(C) O Function generator
e W

(D) & Radio frequency generator
I Wil FeT

Question No. 3§/ Question ID 112 Marks: 2.00
What is the better method to change the DOR of a compound motor without changing its characteristics?
feft wrards wiew @ fardrwanadt & ufvad fau famn Sud DOR &1 @avr &1 ded adle & 87
(A) 3 Change the direction of shunt fiald current

e Wits T B
(B} (3 Change the direction of both the armature and shunt field current
SR SR Se Wies &ic ol @ fgmn aad
(C) 3 Change the direction of series field current
e wieg wie 2 f2on g2+
(D} O Change the direction of armature current (Correct Alternative) (Chosen Option)
wie @ fean a2 (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 498 Marks: 2.00
Which is the permissible load for lighting subcireuit in domestic wiring as per |E rules?
IE Framt & e S amie | 39 W1 A & O SEHT YT EF W87
(&) o 1200 W
1200 W
(B) O 2400 W (Chosen Option)
2400 W ({Chosen Option)

(C) ) 800 W (Correct Alternative)
800 W (Correct Alternative)




(D) 3 3000W
3000 W

Question No. 5/ Question ID 151 Marks: 2.00
How pole pitch is measured in terms of slots in AC winding?
Gt el 1 U A1 A e b ] H I T 82
(A) O Total sectncal degres
Humber of shols
Tolal slectncal - degres
Mumber of siofs
(B) O Mumber of siots
Total electrical degros
Hunber of siots

Total electrical degraa

(CY Ho. of poles
Mo of giots intha stabor
Mo of polas

Mo of siots inthe staor

DYO No. of sibts inthe stator
Mo. of poles

{Correct Alternative) (Chosen Option)

bla. of sbts inthe dator
Mo. of poles

(Correct Alternative) (Chosan Option)

Question No. 6 / Question ID 36 Marks: 2.00

Which type of DC generator is used for electroplating process?
T W & TG o T 3 SR e 4 T R e 22

(A) O Shunt generator (Correct Alternative)
e (Correct Alternative)
(B} O Series generator (Chosen Option)
{Chosen Option)
(C) ) Ower Compounded Cumulative generator
MR FUTISS FHei e T

(D) Differential compound generator
e diftre

Question No. 7/ Question ID 368 Marks: 2.00
What is the name of the wiring accessory used in control panel wiring as shown in the figure?

fer  fermmy . Py U avafon 3 wges i SETE SuEl & A 3 87

(A) T DIN rails (Correct Alternative) (Chosen Option)
EGi (Correct Alternative) (Chosen Option)
(B} O Grommels




(C) (O Race ways
wad

(D) G channel
St T

Question No. 8 / Question ID 473 Marks: 2.00
What are the important stages in a simple inverter?
T HIURO] | T 1 2
(A O ['Jsmllatnr and rectifier stages
3 feweardt =

(B) O Gsmllatnr and amplifier stages

e A1 UrEiETR 3X
(C) O Amplifier and transformer output stages

TR 3R 2 Frfa wo
(D) © Oscillator, amplifier and transformer output stages (Correct Alternative) (Chosen Option)

, TRIETGTaY Y EIAwTHT JeTeH 907 (Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 373 Marks: 2.00
Which switch is operated at OFF load condition?

Hiw drs faufa o o9 o e dafea 22
{(A) O Push button switch

e 52 fed
(B) (3 Limit switch

farfire fem

(C) ) Two way switch (Chosen Option)
7 d &4 (Chosen Option)
(D) 3 Isolating switch (Correct Alternative)
& (Correct Alternative)

Question No. 10 / Question ID 206 Marks: 2.00
What is the name of the symbol as shown in the figure?

form o gerie o Wt w1 A = €2

! I

(A) O Induction motor, three phase star connected

TEaM Hiex, fl e ©R Faes
(B) O Induction motor, three phase deita connected (Chosen Option)

FEHE AT, #9901 25T 81§31 (Chosen Option)
(C) O Induction motor, three phase squirrel cage

HreT, ot v fare 9
(D) Induction motor, three phase with wound roter (Correct Alternative)
| }TE eX & Iy 1 TR (Correct Alternative)

Question No. 11 / Question ID 265 Marks: 2.00
Why D.C Supplyr 15 necessary for synchronous motor operation?
fHepi Hiex sffove & fae o.c gl &1 srawas §7
AY O Hun tha motor at 51.rnn:hn: nous speed (Correct Alternative) (Chosen Oplion)
1 geaeIierss T ¥ TEN (Correct Alternative) (Chosen Option)




(B} (v Reduce the losses

F HH e

(C) ) Run the motor with over load
HreT ® 3a Al & WY Fen

(D) Start the motor initially

= H heY wTE &¢

Question No. 12 | Question ID 215 Marks: 2.00
What is the name of single phase motor as shown below?

R e o & e e A m s Am

i
w

b
L]

(A) O Inductu::n start capacitor run motor
TEFH ®IE FURiE T e
(B} ) Capacitor start induction run motor
®TE $BaTA T HieY
(C) O Permanent capacitor motor (Correct Alternative) (Chosen Option)
TR WenfeT 71T (Correct Alternative) (Chosen Option)
(D) Capacitor start capacitor run motor
Fuftes T AT

Question No. 13/ Question ID 148 Marks: 2.00
What is the number of coils per phase per pair of poles of 3 phase motor having 2 pole, 24 slots, 12 coils?

2 Ui, 24 Tile, 12 Siga ardt 3 9901 Aiex & ui avm ufa St eige ot wem g7
(A) O 2 {Chosen Option)
2 {Chosen Option)

(B) O :
1o 3
3

(D) ) 4 (Correct Alternative)
4 (Correct Alternative)

Question No. 14/ Question ID 122 Marks: 2.00
What is the name of the speed control method as shown in the circuit?
ufthe # guifd e A Frdzor fafe & =m e gy
I |
!.,-‘" WARILRLE ’_;".W.I:III.E
! [ RESESTANCE | RESISTAMCE
FiELy E |— Do ELIPPLY iy E "_ DO EUPPLY
{ =, =
'-._-.f’l ARMATURE E. N/ APGAATLIRE 5
- e { o ¢

(A} O Field tapping control method
Wiy eft = fafl

(B) O Field diverter control method
pieg ey P fafd




(C) O Field control method (Chosen Option)
wivs fFEm e (Chosen Option)
(D) (3 Armature control method (Correct Alternative)
' {Correct Alternative)

Question No. 15/ Question ID 331 Marks: 2.00
What is ﬂ'negpa of arnpitﬁ&r circuit as shown in the diagram?
e o for 2, unrelierae wffe @1 uar a8

1
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Y s
3 -
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G =
11 -
i E
5 Ry |:| R
2
A | §
=
|
Y.
o | °
b —
% =
M =
i E
f§ ol "
E | ;

(A) ) Common base amplifier (Correct Alternative)
HIH ¥ Watls (Correct Alternative)
(B) O Common emitter amplifier
TR TRTRI T
(C) O Class B push pull amplifier {Chosen Oplion)
FaTH &t I O WG (Chosen Option)
(D) Common collector amplifier

FHetged T

Question No. 16 / Question 1D 427 Marks: 2.00
What is electric drive?

gaifdce grga w82

(A} O An electro mechanical device for controlling motor (Correct Alternative)

Htex ot Frdfia w33 & fre ve Ry gifie Suevor (Correct Alternative)

(B) O Adevice used as prime mover for generator

SER & fong uren Haw & w0 § S i S e ud

(C) O A machine converts mechanical en into E1&Gtr|t:al
T A it Fl @ A ﬁuﬂ*%%




(D) O Adevice converts A.C to D.C supply (Chosen Option)
TF JUHI A.C F1 D.C Ayfd # ufvafela #ea & (Chosen Option)

Question No. 17 / Question 1D 147 Marks: 2.00
What is the electrical degree of & pole slator of motor?
6 ISt Tex Hiew @it fya faafht a %?,
(A) O 720° (Chosen Option)
720° (Chosen Option)
(B} O 3gp0
360°

(C) O 1080° (Correct Alternative)
1080° (Correct Alternative)
(D) O 1440°
1440°

Question No. 18 /| Question ID 493 Marks: 2.00
Which electric lines connect the substation to distributors in distribution system?
ferereon womeRt 7 face & for wewrem 1 &1 | fayg @eq wsd 82
(A} O Service lines (Chosen Option)
€154 (Chosen Oplion)
(B)Y O Service mains

{C) ) Feeders (Correct Alternative)
WET (Correct Alternative)
(D) O Distributors
EREED

Question No. 19/ Question 1D 401 Marks: 2.00
What is the purpose of DIN-rail used in the control panel wiring?
Fheta Uel anafen o wEd DIN-E &1 359 #9187
(A} O Mounting the control accessories without screws (Correct Alternative) (Chosen Oplion)
P & fam oo \nedt @ # (Correct Alternative) (Chosen Option)
(B} O Mounting the control accessories using screws
W @ SUUNT s U IETE SUEl & ATde S
{C) O Mounting the double deck terminal connectors
Zad 2% (6 Sarae T o
(D) & It provides a path way for electrical wirin
g fyg ari 5; feu U T weE FEe

Question No. 20 / Question ID 293 Marks: 2.00
Which material is used for the damper winding?
SR arefEn & R v wrelt @ S R 87
(A} O Castiron bar
HE HTHE dF
(8) ¢ Copper bar (Correct Alternative)
|l ¥ (Correct Alternative)
(C) O Stainless steel bar
A T g1
(D) Silicon steel bar (Chosen Option)
e ¥id a1 (Chosen Option)

Question No. 21/ Question ID 270 Marks: 2.00




Why the LED's are avoided as converters in reclifier diodes?
Wmﬂmﬁﬂﬁmﬂamﬂaﬁlm AT 87
(A) O Very low power device (Correct Alternative)
aga &9 Widw gt (Correct Alternative)
(B} (7 Heavily doped device
sifis SIeE i
(C) O Very sensitive to temperature (Chosen Option)
ATH o vt Fgd o (Chosen Option)

iD) 3 Designed for light emitting
TSI Fedrei o fer e ¢

Question No. 22 /| Question ID 299 Marks: 2.00
Which letter indicates the compound matenal qadm':urn sulphide?
1 J e Uit ven Fefinm geEss 3T s 87
(A) O 'R'[Correct Alternative)

‘R' (Correct Alternative)
(B) O 'C

|{:.I
(CY O B’ (Chosen Oplion)

‘B' (Chosan Option)
0yo A

|Al'

Question No. 23 / Question 1D 104 Marks: 2.00
Why shunt field coil is connected in series with holding coil in D.C three point starter?

Tfe Wive Higa &1 D.C #t uige wrdv 4 §ifesn siga & wy yua | F91 e amm 87

(&) 3 Decrease the holding coil current

aifeen wiga Fie wen
(B) & Protect the shunt field from over current
UfE HieE & i g =N
(C) O Increase the holding coil current (Chosan Option)
BT Sigel HE qGT (Chosen Option)
(D) T Protect the motor in case of open in shunt field (Correct Alternative)
iz Wies @@ 19 2 R ¥ et 3 R 7@ (Corroct Alternative)
Question No. 24 | Question ID 377 Marks: 2.00
What is the use of 'G’ channels in control panel?
fortizron e T G el 1 UG 1 87
(A) O For fixing relays
fre =1 3t & & firg

(B) ¢ For fixing terminal connectors (Correct Alternative)
Water®| ®1 E1& FIA & Y (Correct Alternative)
(C) O For fixing instruments {Chosen Option)
JUHI Tl BlF Fe & oy (Chosen Option)
(D) & For fixing contactors

TS Bl Ei B o fer

Question No. 25/ Question ID 172 Marks: 2.00
What is the name of the winding as shown in the figure?

wra i e o ferama i €, afEn &1 Am g2




(A) O Skew winding
foreadt

B8O Inm]ute cail winding (Chosen Option)
s F8a AEET (Chosen Option)

(C) T Diamond coil winding

EHEEREEEY

(D) O Skein winding (Correct Alternative)
'ﬂTEﬁ'*T {Correct Alternative)

Question Mo, 26 | Question ID 216

Marks: 2.00

What is the electrical degree between main winding and auxiliary winding in a split phase induction

motor?
fitere e S99 Hiet ¥ 14 aafan o siforad anfen & o soffea B am gy
(A) O 90° (Correct Alternative)
90° (Correct Alternative)
(B) O 450
45°
{C) O 180° (Chosen Option)
180° (Chosen Option)
(D) O 1200
120°

Question No. 27 | Question ID 324
Why a feedback network is used in the oscillator as shown in the circuit?

o o Wi H feaman T &, siifterey # wisds Soad & Juh 0 ) w82

Marks: 2.00




iy
I
1

(A} O To cancel noise distortion
TR fawuu &1 7 94 & faw
(B} O To phase shift the signal by 60°
B0° ¥ T fitoe & & forg

(C) O To phase shift the signal by 180° (Correct Alternative) (Chosen Option)

I¢ — Yoo
19 x&b I
ﬂ
{m ]
Vi N i
(=]
Van T
=
—_— "rm

e ®1 180° | T firee &9 & 81T (Correct Alternative) (Chosen Option)

(D) O To cancel second harmonic distorbion

g ey & 38 &3 & fo

Question No. 28 / Question ID 425

What is the name of the characteristic curve in D.C drive as shown in the figure?

fom & Tuit auR .c 3Ea # yftmafes o & 7 8?

Marks: 2.00
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a

(A) (3 Speed Vs armature current characteristic
nfa &= e e R
(B) O Speed Vs torque characteristic (Correct Alternative) (Chosen Option)
T Fargol frieaT (Correct Alternative) (Chasen Option)
(C) (O Field current Vs armature current characteristic

Eieg FHE S rEEe gdue g

(D) O Torque Vs field current characteristic

Tl & &7 4 R

Question No. 29/ Question 1D 28 Marks: 2.00
What is the purpose of using resistance wire used in the commutator in D.C generater as shown in the
figura?

fera A Ty argar 141, sFives ® eRgeer H uga uiRly aR &1 9uan &34 $1 9e10 311 87
LA O

(A) O For smooth reversal of current direction (Correct Alternative)
Faar G & gurs gaels ¥ Y (Correct Alternative)

(B) O To reduce the vollage drop
@ T F & o
(C) O To maintain constant stage (Chosen Option)
R sawn 510 787 & 77 (Chosen Option)

(D) ¢ Toincrease the statically induced emf
wiftvr =9 A WfEd emi B @2 & o




Question No. 30/ Question ID 439
What is the function of IGBT in AC drive?
o gEa 1 IGET 1 1 # 82
(A) O Converts incoming A.C into D.C (Chosen Option)
TSI AC F1 D.C 7 uftaffa F3a1 8 (Chosen Option)

(B) O Cuntmlst ower delivered to the motor (Correct Alternative)

wifeRt o Frafia 31 8 (Correct Alternative)
[ E S Stab-lnza tha output voltage from the rechifier
¥ WrRIeye dres o far ot
(D) O Smoothening incoming A.C supply
C I &1 B FE

Question No. 31 / Question ID 86
What is the action of assist the induced emf in a running D.C motor?

el g5 €1, Wiew o Ofra SUUeE @ SR S @ e g |n,
(A) O Increases the armature current
IR T B TP 8
(B) ¢ Decreases the armature current (Chosen Oplion)
HTHEY Fic H UET & (Chosen Option)
(C) & Opposes the applied voltage (Correct Alternative)
o] ateew &1 favi 36 € (Correct Alternative)
(D) (7 Assist the applied voltage
dle B HErdl H1

Question No, 32 / Question ID 362
Which diode is used lo regulate the voltage in the power supply unit?

fau snufd zord ©f dierw ) ffaftE s9 ¥ R srie &1 9w o 22

(A) 3 Light emitting diode (Chosen Option)
WHTR Jleid SIS (Chosen Option)
(B) ( Crystal diode
frwea srdte

(C) O Tunnel dicde
T IS
(D) O Zener diode (Correct Alternative)
{Correct Alternative)

Quastion No. 32/ Question 1D 141
What is the name of the part marked as "X" as shown in the figure?

for ¥ femmmn o arEm w0 @ Rfgm vm w Am am g2

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00

!

(A) O Bearings (Chosen Option)
(Chosen Option)
(B) () Brushes
EL




(C)  Slip rings (Correct Alternative)
47 (Correct Alternative)
(D) Shaft
e

Question No. 34 / Question ID 5 Marks: 2.00
What is the name of the part marked "X’ in DC generator as shown in the figura?

form & famm sam D weR # x 3 fafta wm @ A w2

] B
i i
(A) O Yoke
i
(B) O Pole coil
ya Fadl
(C) O Pole core
oie FR
(D) O Pole shoe (Correct Alternative) (Chosen Option)
7 (Correct Alternative) (Chosan Oplion)

Question No. 35/ Question ID 8 Marks: 2.00
What is the name of the D.C generator according to the field as shown in the figure?
e f o # e i B, Wites & SFWR DC WAYET @1 ATH & 87

—— — —= E o
— et
s pp— | ] "_‘ 1
L’/’//J_dfﬁ__—n..\ i drﬂd__hn_:\
~N & N
(AY O C_urnu]atiuﬂ compound generator (Correct Alternative)
TYET (Correct Alternative)
(B) O Series generalor
e FeeT
(C) O Shunt generator (Chosen Option)
{Chosen Option)
(D) & Differential compound generator
filgs Uifie wvet
Question No. 36 / Question ID 288 Marks: 2.00

Which test is conducted in an alternator as shown in the diagram?

o i e 9 fermman mmn &, areeed § @ | udier i w27




otz bwd« Oz

_1
l

it=tateta)

[ " |
(A) O Continuity test of the field winding (Correct Alternative) (Chosen Optlion)
wieE arEfEn &1 Friawar THa0 (Correct Alternative) (Chosen Option)
(B) O3 Continuity test of the main winding
ey arefEn &1 Friaa dtem
(C) () Insulation test between the field winding and frame
wivg afEn R b & 9 gegiee aite

(D) O Insulation test between the main winding and frame

T ArEfE SR M F g ggere wdiam

Question No. 37 / Question ID 461
Which is frequency converler?
R et BH A7

(A} O Rectifiers
Yeewmd

(B} & D.C to A.C converters (Chosen Option)
D.C ¥ A.C Fa¢Y (Chosen Option)
(C) O D.C choppers
D.C FIH
(D) O Cyelo converters (Correct Alternative)
(Correct Alternative)

Question No. 38 / Question ID 163
Which test in winding is illustrated as shown in the figure?

form & Twiy srgaR aRfEn & & o1 ufiem gui T 87

Marks: 2.00

Marks: 2.00




(A} O Continuity lest
FriaTan wiiam
(B) & Polarity test (Correct Alternative)
e " (Correct Alternative)
(€} Short circuit test (Chosen Oplion)
wfde T (Chosen Option)
(D} O Ground test
s o

Question No. 1/ Question ID 522
Which is the formula for
BTGB

m m
a a
—p —F

ﬂ“ -Hn
(A) O (amyn
(am)"
(B) O gmtn
Em*n
(€YD a™-" (Correct Alternative)
a™ " (Correct Alternative)
(D) O aM*" (Chosen Option)
a™ * " (Chosen Option)

Question No. 2/ Question ID 524
What is the formula for (a-b)¢?
(a-b)? W1 I F1 §7
(A} O a%-2ab-b?

al - 2ab - b%

Marks: 2.00

Marks: 2.00




(B} O -a%-2ab-b?
-a* - 2ab - b?

(€Y a? +2ab + b2 (Chosen Option)
aZ + 2ab + b? (Chosen Option)

(D} O a?.2ab + b? (Correct Alternative)
a® - 2ab + b? (Correct Alternative)

Question No. 3/ Question ID 518

What is the purpose of a lubricant?
TeF &1 ToTd T2
(A) O Toincrease friction (Chosen Option)

THO[ & 'ﬂﬁﬁ & fer (Chosen Option)
(B) O To reduce friction (Correct Alternative)

W1 WH B & 19 (Correct Alternative)

(C) O Toincrease the pressure

qaE 9gi- & fai
(D) To reduce pressure

TATd T Y H & a0

Question No. 4 / Question ID 529

What is the expanded form of 5.P7

.t (s.P) &1 favga =0 Fm @7

(A} O Super Price
Super Price

(B) & Selling Price (Correct Alternative)
Selling Price (Correct Alternative)

(C) Oy Special Price
Special Price

(D) ) Selected Price (Chosen Option)
Selected Price (Chosen Option)

Question No. 5/ Question 1D 527
What is the unit of strain?

farepfer it goprd s 22

(A) O Kglem?
Kglem?

(B} & Mewton/metre? (Chosen Option)
Mewton/metre? (Chosen Option)

(C) O Metre
Metre

(D) Oy Mo unit (Correct Alternative)
No unit (Correct Alternative)

Question No. 6/ Question ID 520
What is the valua of 14x+3y+25u+2y7
14x +3y+25x+2y T O 71 87

Marks: 2.00

Marks: 2.00

Marks: 2.00

Marks: 2.00




(A) O 44xy (Chosen Option)
44xy (Chosen Oplion)
(B) ¢ 39x + 5y [(Correct Alternative)
39x + Sy (Correct Alternative)
(C)O 17x+ 27y
17x + 27y
(D) ) 16x + 28y
16x% + 28y

3) ENGINEERING DRAWING

Question No. 1/ Question ID 537 Marks: 2.00
Which is the static machine thal increase or decrease the AC voltage?
it dteest @) agH @ ver At wite aefa s W g
(A) O Alternator
HeeTet

(B) O Transformer (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Cplion)
(CY O Ipdur.dﬁun motor
EEEIE
(D) & Generator
e

Question No. 2 { Question ID 549 Marks: 2.00
Identify the symbol used for microphone (general) in electrical and electronic circuits.
mmﬁmﬁamﬂqméﬁmmm%mmmmmmEﬁwm
(A) O

(Chosen Option)

{Chasen Option)

(B} &




(€ o

11

i1

1L

(D) C

(Correct Alternative)

| |

@ {Correct Alternative)

Question Mo. 3 / Question 1D 540 Marks: 2.00
What is the name of the symbaol?
welts &1 W T B2




(A) ) Condenser microphone (Correct Alternative)
HEE (Correct Alternative)

(B) (3 Dynamic microphone
SIS

(C) O Loud speaker (Chosen Oplion)
IS WHT (Chosen Option)
(D) & Microphone
HEHIEH

CQuestion No. 4 { Question ID 554
Which is ball peen hammer?
e e g @ w82
(AY O

(B) O
(Correct Alternative)

(Correct Alternative)

(C) O

Marks: 2.00




Lo

(Chosen Cption)

{Chosen Option)

Question No. 5/ Question ID 552 Marks: 2.00
Which is the NOT gate in the following piclure?
fafriNnoT Te®#R T e
(A) O
{B}D -
(C) O
{Chosen Oplion)
{Chosen Oplion)
(oo
(Correct Alternative)
(Correct Alternative)
Question No. 6/ Question ID 542 Marks: 2.00
What is the name of the gate

T2 &1 AT 1 87




(A) ) NOT Gate
MNOT TIE

(B) (7 Ex-NOR Gale
Ex-Nor TIZ

(C) O OR Gate
OR 12

(D) O AND Gate {Correct Alternative) (Chosen Option)
AND T2 (Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 714 Marks: 2.00
While sending a job application through email, how to share the resume and other documents’?

$ia & e | el srden e\ aiEre o o o HR S @t
(A} O Gc:-pj,.rlng and pasting the content of the documents into the email body
i Hcc ol SO aial § il Y i S afge

(B} O Attach the scanned documents as pdf with the email {Eﬂrrect Alternative) {Chosen Option)
Eirer ¥ Ty e fve o sTegiew &1 o & w=u o werm v TR (Correct
Alternative) (Chosen Oplion)

(C) Ty Click pholos from phone and send it
i ¥ Wiet [Fae s v deen i

(D) Should not send documents over email as it is not safe

i v Erergiea =l dern oty sl o geida o

Question No. 2 / Question ID 752 Marks: 2.00
When a machine ocperator suddenly face a problem, and quickly finds another way to do the work is
called as
W U TEA O¥e &1 AEE R T &1 G S USdl €, N 9% g0 6 S %1 g aie
wEme aTaTFEd
(A O Integrity

(B) O Sincerity
i

(C) O Honesty (Chosen Oplion)
(Chosen Option)




(D) Adaptability (Correct Alternative)
{Correct Alternative)

Question No. 3/ Question ID T06 Marks: 2.00
1|-"|.fﬂr'|at i a job portal?
Hd giee &4

(A) O A website where companies post jobs and people can search and apply for them (Correct
Alternative) (Chosen Oplion)
U d9HISe Agl STl g UIRE Ft 8 ST an Sud e v o s s aea
[Correct Alternative) (Chosan Option)

(B) O A place where you can play games and talk to friends
U @8 @l A T @ Ted E AR S A e R OEd B

(C) O Aspecial room where job inlerviews happen online
(0578 i1 fs o3 o B 1 1 1 o s o T o [ A D o T - A T

(D) 3 Abuilding where you go to find work

e D fafie ot 10 T g2 o

Question No. 4/ Question ID 575 Marks: 2.00
Complete the sentence with suitable describing words.
There are apartments in my neighbourhood.
JUGE S Wedl | ET U Y |
There are apartments in my neighbourhood.
{A) () spacious (Correct Alternative)

spacious (Correct Alternative)
(B) O beautiful
beautiful
(C) O expensive (Chosen Option)
expensive (Chosan Option)

(D) © good
good
Question No. §/ Question ID 607 Marks: 2.00
What are some advantages of informal communication at the workplace?
TR §AiHE & 1 §7

{A) O Helps people work together better (Correct Alternative)
& U AT frere dgav &0 & &0 99 § uee e € (Correct Alternative)
(B) (3 Makes things more official at work
FHTwm U1 il &1 3T HiiE anfieive s g

(C) O Makes people talk less (Chozen Option)

T8 T T ol § (Chosen Option)
(D) ¢y Creates a strict environment at work

U T SIarET ST ¢

Question No. B/ Question ID 812 Marks: 2.00
While presenting your business plan to audience, how will you engage them to connect with you?

Zeier! & T S srEEm i IR S0 TEY, ST I U WY FY S IE?
(A) O Practice until you can confidently present your plan (Chosen Option)
HMITH 7€ 7% B4 ol dF S0 SAfIUTE I S0+ s UHld 7 ${ §F (Chosen Option)
(B) (7 Avoid eye contact with the audience
et ¥ afie fire= 9 &d
(C) ) Share a story or an experience that shaped your idea (Correct Alternative)
T T O1 AT |iE F4 o 2o faam 1 aneR 2490 (Correct Alternative)

(D) & Repeat yoursell multiple times
IO 31T FH] FE AR e




Question No. 7/ Question ID 563 Marks: 2.00

When you barrow a pen from your classmate, you should say?
T T S0 TR § Fed IuR 99 ¥, @ o F FE e
(A} O Can you please give me a pen (Correct Alternative) (Chosen Option)

T HI9 FOdT TEF | a' * (Correct Alternative) (Chosen Cplion)
(B) O |take your pen

ST U Tl §

(C) O Give me your pen

2 S O
(D) |wanta pen

e 1% U 9iige

Question No. 8 { Question ID 769 Marks: 2.00
Whean you do not know how 1o use a new machine, what will be your action?
W Y 7 T 1 I F1 A6 A o A9 791 H gy

(A} O Ask for help and learn how to use the machine (Correct Alternative) (Chosen Option)

TETaa 7t 2y A S wefte w Suai 9 w9 SR (Correct Alternative) (Chosen
Option)
(B) 7 Stay silent till someona teaches you
O O S SHT9E! o T § 09 a6 ©9 el $e g1e
(C) ) Leave the job
A Bg & e
(D) Take a break and do it later

ulgT i@ weh I a1 H 58 & A8y

Question No. 37 Question 1D 574 Marks: 2.00

Complete the sentence with suitable describing words
There is a playground near our housa.

JUgE G Wedl @ 1T QU HY |

There is a playground near our house.
(A} O spacious
Spacious
(B} () big (Correct Alternative)
big (Correct Alternative)
(C) O beautiful (Chosen Option)
beautiful {Chosen Option)
(D) & good
good

Question No. 10 / Question ID 736 Marks: 2.00
|s whan a group of people work together to finish su:nme:hlng
?llgrlﬂﬁrﬁﬂﬂj felt i @1 O e & o U Wy B B B
(A} O Tuarn wnrl-t (Correct Alternative) (Chosen QOption)
aF (Correct Alternative) (Chosen QOption)

(B} O Experience

H1HE
(C) ( Education

e
(D) ) Business

2RI

Question Mo, 11  Question ID 800 Marks: 2.00
What is full form of GST?
GST &1 pa wid & @7




(A) O Govt. Sales Tax
Govt. Sales Tax

(B) ¢ Goods and Service Tax (Correct Alternative)
Goods and Service Tax (Correct Alternative)

(C) O Gowvt. Service Tax (Chosen Option)
Govt. Service Tax (Chosen Option)

(D) O Goods Sales Tax
Goods Sales Tax

Question No. 12 / Question ID 766 Marks: 2.00
What are some people related problems in a workplace?
T AT & el e T e
(A} O More qualified workers

(B} O Workers do not communicate while facing the problem [Correct Alternative) (Chosen
Option)
e & I F2e TUY HHAN! HEgf-de T8 HId § (Correct Alternative) (Chosen Option)
(C) O More experienced works
aftre syt e
(D) ) More staff in the workplace

@i w afts v

Question No. 13/ Question ID 723 Marks: 2.00
What will keep evolving there by making jobs undergo changes?
tran el avan v e Tefedl o ofvads smome
(A) O Technology (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)

(B} & Workforee
ECarae:]
(C) O Investment

(D) Time
cTeH

Question No. 14/ Question 1D 654 Marks: 2.00
If you want to work in a foreign country, to migrate safely, you have to

afe 31 fsr | S S 9ed ¢, 0 GIEE vary & R s |

(A} O Learn about the place, confirm the job befere moving. (Correct Alternative) (Chosen
Option)
3T g2 W UE WG & A W W A1 ST Al Ut T 941 98 (Correct Alternative)
(Chosen Option)

(B) 3 Think how you spend your money.
Hifare st Ho US4 wd e 9fgn

(C) ) Leave to foreign country without informing anyone.

e fel =1 arame fad e =« S =gy

(D) Move and ask for confirmalion,

T w3 P & ferg o iRy

Question No. 15/ Question ID 627 Marks: 2.00
Skill India Digital is
ferm fem fefoea B
(A) T adigital Mowvie
U Bel
(B} (3 central govt. cffice
&g TR HiEd




(C) O name of a lrade
& HH
(D) a platform for learning and career resource (Correct Alternative) (Chosen Option)
gy daTu= & f10 Ues 59 (Correct Alternative) (Chosen Option)

Question No. 16/ Question ID 650 Marks: 2.00
Someona loves photography and dreams of starting his own photography business, he has to start with

faelt 1 e WiE § iR 9 SO WIOHIE SIEEr U $Y & 901 SEd €, @1 98 3}
T Feet g
(A) ) take random pictures and share them online.
You fiaad a1 o 3 ifrene Sar e TRy
(B) O start advertising without any planning.
F faq g% Fe 9ifgy
(C) O learn more about photography and join a basic photography course. (Correct Alternative)
{Chosen Option)

wieraTml & T # T o SR afbe wichme! ureasy | e g9 18T (Correct

Alternative) (Chosen Oplion)

(D) ) buy the latest photography equipment, even if it is beyond your budget.
TR WIEITE! ST BHtGA] eY, WE #1 a5 M awe | 9T Bl

Question No, 17/ Question ID 573 Marks: 2.00
Complete the sentence with suitable describing words
There is a garden with lovely flowers,
3fa avfieE weal @ 99T T HY |
Thereisa ____ garden with lovely flowers.
(A} O big
big

(B) O beautiful (Correct Alternative) (Chosen Option)
beautiful (Correct Alternative) (Chosan Option)

(€) © good
good

(D) spacious
Spacious

Question No. 18 / Question 1D 751 Marks: 2.00
Which of the mirmving best describes the self-management skill of reliability?
wi fase-itaa & dew S-ade foea &1 984 a5 99 &4a 7
A, Fen Ia always trus to do yvour job well (Correct Alternative) (Chosen Option
e P Y 'H'v!%‘ﬂﬂﬂﬁ ( ~3-1I'II'EI M{W ﬂﬂﬂ?ﬁﬂﬁﬁ}é{ﬂurm:t iltar]rmtwﬂ]l
f Chosen Clp-tlc:n:l
(B} () Mot completing tasks on time
Tug O3 T R Al s
(C) & Ignoring the needs of others
E B Tl @1 T e F
(D) ) Mot being honest with colleagues

Heaiadl & FY SAFER 7 @

Question No. 19/ Question 1D 697 Marks: 2.00
is an aclivity where students who finished their studies from institute and come to talk to the
present siudents.

e Tifafaf @ ot e @ ol ogr oft @ 9% oE adam el @ ah e e g
(A} O Campus interview {Chosen Option)
§275] (Chosen Option)
(B) O Conference




(C) O Alumni I_En gagement (Correct Alternative)
(Correct Alternative)

(D) Job mela
EIERE)

Question No. 20 / Question ID 676 Marks: 2.00
Which one is a search anging?
CERECEack: by

{A) O Hotmail
(B) O Flicker
PRET

(C) O Google [Correct Alternative) (Chosen Oplion)
Tl (Correct Alternative) (Chosen Oplion)
(D) © Face book

Question No. 21/ Question ID 567 Marks: 2.00
When you start a discussion on a topic, what do you say?
o g Tt fa o waf amby wed € o aimamﬂﬁ%?
(A} O Let us discuss (Correct Alternative) (Chosen Option)
IR CEIE- T {Correct Alternative) (Chosen Option)
(B) O Letus finish
HIFY WH F{
(C) T Let me say
T e

(D) Let you start
H1ZU IR Y

Question No. 22 / Question 1D 642 Marks: 2.00
Which option below describes a “gig" in the gig economy?
13 fam o F19 @ fen fm sl 1 <o &1 avi Fwa e
(A) O A specific task or project (Correct Alternative)
o ffy e @ (Correct Alternative)
(B) & A job with full-time hours and benefits
Fol-ele He AR A ardt A
(C) O Atypical 9-5 job {Chosen Option)
e WA 9-5 Tt #1 A (Chasen Option)

(D) Mo specific task
w1 oy o g

Question No. 23 / Question ID 794 Marks: 2.00
You are a lifelong learner if you

U 3reflaA e are =fea § e am
(A} O Jein online courses
HAeTE Ul 4 98
(B) O keep growing and adding to your knowledge (Correct Alternative) (Chosen Option)
3 T B deTd 37 S5 T8 (Correct Alternative) (Chosen Option)
(C) getaPhD
PhD T &4
(D) O live for a long lime
@ A A% S1ad Yo o

Question No. 24 | Question 1D 674 Marks: 2.00




In an email, where will you add the recipient email address whom you want to send the copy of an email?
et e o s 33 virearasal a1 Sl ua el S ford s die @t T de aned €
(A} O To (Chosen Option)
To (Chosen Option)
(B) O Subject
Subject
(€} O Bee
Bee

(D) CC (Correct Alternative)
CC (Correct Alternative)

Question No. 25/ Question 1D 667 Marks: 2.00
Which of the following is a green practice?
Frafafaa 4 @ 9 @ i ifeea 27
(A} O Grow plants wherever possible (Correct Alternative) {Chosen Cption)
ot Wt Wyg &1 Utel 3T (Correct Alternative) (Chosen Option)
(B) O Motseparating recycle waste
FE & AT TG HLAl

(C) O Not usin%plastlr: containers
R & deE B STar A5l Bl
(D) Using high power air conditionars
BTE UTEY ATl U S &1 Jud e




